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JHAYMCHHA nNapaMcTpoOB NPH
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M| cxema | mapamerps 3  HanpsokeHWe
: ! R=X=50u | U,=120B: Udt)=120¥2 sint, B il
g R=X=10 Om | U,= 240 B: Ug(t) = 240V 2 sin oL, B
R ] R=X=100m | U,=80B: Ugt)= 80V 2 sin (ot + x). B
4 R=X=200m | U,= 160 B: Us(D)= 160V 2 sm ot, B
SRR R=X=10 Om | U,= 160 B: Ult)= 160N 2 sinw, B
G R=X=200m | U,=320B: Ug(t) = 320V 2 sinwt, B
R Tk R=X=250m | U,= 200 B: Us(t) = 200V 2 sin ot B =
& R=X=50 Om | U,=400B; Us(t) = 400N 2 sin (ot + x/2) B
9 5 R=X=500m | U,=120B; Us) =120V 2 sin ot B
10 | R=X=25Om | Uy=240B. Uy(t) = 240V 2 sin ot, B
o 1 1 6 R=X=30 Om | U,= 320 B; Ug(t) = 3202 sin ot B
12 R=X=1000m | U,= 240 B; Ug(t) = 240V 2 sin o, B
13 7 R=X=25Om | Us=300 B; Ug(t)=300 2 sin (wt+x/2. B
14 R=X=50 Om . | U,= 150 B; U(t) = 150V 2 sin ot, B
15 8 R=X=200 Om | U,=280 B, Ud(t) =280V 2 sm e , B
16 R=X=100 Om | U;= 140 B; Ug(t) = 140V 2 cos ot, B
17 9 R=X=200 Om | Uy=360 B, Ug(t) = 3607 2 sin ot, B
18 R=X=100 Om | U,= 180 B; Ug(t) = 180V 2 sin oL, B
19 10 R=X=200 Om | Uy= 320 B; Ugt) = 32082 smwt, B
20 R=X=100 Om | U= 160 B; Ugt) = 160V 2 cos ot . B
21 1 R=X=250 Om | Uy=200B; Ugt) = 200V 2 sinot, B
22 R=X=5000m | U,=400 B; Ug) = 400V 2 sinwt , B
23 12 | R=X=2500m | U,=240B; Ugt) = 240 2 sm ot B
24 R=X=500 Om | Uy= 480 B; Ug() = 480V 2 cos wt, B
25 13 R=X=250m | Upy=56B; Ugt) = 56 2 sin ot, B
26 R=X=500M | U,=112B; Udt)= 112y 2 sinot, B
27 14 | R=X=250m | U,=48B; Us(t) = 48V 2 cos o, B
28 R=X=500m | U;=96B; Ugt)= 96V 2 sinot , B
29 15 R=X=20m | U;=7B; Ug() = 72V 2 cos wt, B
30 R=X=10 Om | U,=36B; Ugt) = 36V2sinot,B
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